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3. (Tpts) A company that manufactures chairs finds that its daily cost is $32,000 when it
manufactures 500 chairs in a day, and its daily cost is 368,000 if it manufactures 2,000 chairs

in a day.

a) Assuming the cost function C'(x) is linear, write an equation for the cost function.
b) What is the expected cost for producing 1,400 chairs?

c) Graph the cost function for 0 < x < 3, 000.
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fa+h) = fz)

4. (4pts) If f{z) = 2* — 3z + 1 find and simplify
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5. (12pts) Example. A company produces printers. Analysts at its financial department
have found that the price-demand and cost functions are given by

p(z) =500 — 1.5z C(z) = 85 + 135z 0<z<200
where x is in thousands, p in dollars and ¢’ in thousands of dollars.

a) Write the revenue function for this problem and graph it.
b) Find algebraically the level of production that maximizes revenue and the maximal

revenue,
¢) Write the profit function for this problem and graph it.
d) Find algebraically the break-even points and check your answer using graphing features

on your caleulator.
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